[L]

There a
subject must answer all the questions.
@U@'ﬁﬁsommﬁqmﬁwﬁwwmm 3% Wl U Fe
3#{77?1 g
91. The question-answer technique can be quite effective in teaching social science
as it ensures
(A)  students’ ability to respond better in examinations
(B) students come to class well-prepared
(C) active participation by learners
(D) a more disciplined classroom '
( it i) o e 3 oo 3 ) e @ Rl & i @ G
el ¢ fm -
A7) Torenférat @t qiey H SgeX TR a7 i A
(B)  fremd we § ot AU % W e E
ferenferat gmy Wipg wrileRt
(D) U 3 srgTIiaT e
92. The word ‘Assurance’ is used for
(A) Life Insurance (B) Fire Insurancc
(C) Marine Insurance (D) Medical Insurance

58

SECTION - IV(b) / @UZ - IV(b)
SOCIAL STUDIES / QIHIf\ah 37ead—

re 60 questions in all in this section. The candidates who have sclected this

Q_{’ali:\q WWWT%TFU?

)

oo o R B) o e ¥
FE e & o . (D) fafercan =@ & ford

(€) :
93. Which of. the following scttles the consumer dispt}tcs at district level ?
(A)  Sessions Court (B) District Court
(C) District Forﬁm District Collector
_ﬁmﬁf@aﬁ@ﬁwww@wmaﬂﬂm‘% ?
(A)  GF =AY B) e =
©) foren wRH (D) FoFemeter
94. Central bank of our country is o
(A) State Bank of India (B) Reserve Bank of India
(C) Central Bank of India (D) Bank of Baroda
Ay RE B2 3 ke AB) WRdE o He
(©) Wz §F o goeA (D) T 3% qSrRT
68579 | [KIIIIMNIIIN 666
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05. The headquarters i
% i ¢ s of Rajasthan St \ .
asthan State Cooper: > B¢ is located ¢
(Al Jodhpur “3[) l}lV.L Bank is located at
Jaipur

(C)  Ajmer (D) "
. sola
TETA 3159 [eeht) i a1 1parrery Repg &

(A) SR
(C) 3R < /g :%W
96. ‘City of hundred islands’ is located iﬁ which district of Rajasthan ?
(A)  Dungarpur (B) Udaipur
(C) Pratapgarh (D) Banswara
W 21 W e R % R frel 1 R ¥ 2
(A) $RE (B) IFAR
() W ~) drE

97.  Which of the following tribes of Rajasthan has been 1nc1uded in the hst of
'pnmlll\c tribal group by Government of India ? 4
(A) Bhil ) (B) Saharia
(C)  Garasia (D) Mecena
TSI ) e A @ s viandaﬁ TR TR ERI SA S T e
o e fomar man w2
NS (B) Hea

Je) witEEamr (D) - wiom
98. The largest sweet water lake in Rajasthanis
(A)  Jaisamand ' (B) Rajsamand
(C) Kayalana (D)  Silised
o | T g @ we S Eier € |
AA) W . (B) TSEHER
(C) Il p) Toeids

argest producer state of which of the following crops in India ?

(A) Maize (B) Groundnut

(C) Mustard (D) Cotton
o e 1 R QB G 1 dafie St U § 2

(A) Teehl ' | (B) e

99, Rajasthan is thel

AC) (D) HUE
100. Which is the best means of explaining the shape of the carth in a classroom ?
(A) Globe (B) Map
(C) Diagram (D) Chart
Wwﬁ/ﬁmwmwmww% ?
((;) %@Tﬁﬁ . _(D) e
68579 |IMIIHMILIN 666 P.T.0.
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@ Which states’ army did Doongji and Jawaharji fight against ?

(A)  Bikaner and Jodhpur (B) Bharatpur and Jodhpur

(C) Bharatpur and Bikaner (D) Udaipur and Banswara

ﬁwﬁammwﬁﬁﬁmﬂﬁﬁaﬁ@m%ﬁvwﬁw ?

(A) SR 9 < SYqR (B AR T AN
(Q) AR o AR (D) IEAR T AHAE
102. Who of the following revolutionaries assumed the pscudo namc ‘Amarda
Vairagi’ to avoid arrest ?
(A)  Arjunlal Sethi ' (B) Pratap Singh Barhath
(C) Kesari Singh Barhath (D) Jorawar Singh Barhath
ﬁmwmmﬁmﬁwam%mwﬁmmw
forar 2
(&) FjTeTer WS : (B) WTT_F@%' RES
(©) HW! & INe (D) wIRER &g aNEs
103. Which revolutionary of Rajasthan was imprisoned in Tihar Jail ?
(A)  Arjunlal Sethi | (B) Gopal Singh Kharwa
(C) Kesari Singh Barhath (D) Pratap Singh Barhath
T & foRg hifqeRRl st feTg St H T T o ?
(A) ST W | (B T fae @Rl
(C) e e IRes 4B) VAT INES

104. Who among the following were in the Chandaval Squad of Maharana Pratap in

the Battle of Haldighati ? :
| /8 Purohit Gopinath 2.  'Rana-Punja

3. Jaimal Mehta 4.  Hakim Khan
S. Charan Jaisa 6. Krishnadas Chundawat
A 1,2,3,4 B B) 2,3,4,5
(C)#=%2, 3,5, 6 D) 3,285
Wﬁﬁwm%wﬁwmﬁwmﬁwa 7
1. qifed MRS 2. O gE
3. IH Hedl 4. wﬂ i
5 qRUT G?GT 0. m W
A 1,2,3,4 ‘ , B) " 2,3,4,5
(C). -:2,3:5,6 DOf 1,2,3,5

ST1

10

‘105.'Wh1ch of the following Chhatris  is considered as the largest Chhatri of

Shckhawau ?
(A) Chhatri of Ramgopal Poddar (B)  Chhatri of Kalyan Singh

(C) Chhatri of Hardayal Singh (D)  Chhatri of Gopal Singh

sss7o  [HINININAN (666
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ﬁmﬁ"f@ﬁﬁﬂmaﬂﬁwmﬁaﬁmﬂ?ﬁ*ﬂmm;? p
() TR GEER #) gl (B) e fige # wadl
©) &R e @l g (D) e i Y g
106. The prmcnplc of curriculum which emphasizes on ‘learning by doing’, is
(A)  Principle of motivation (B) Principle of broadness
(C)  Principle of activity (D)  Principle of utility.
WETFH % foret foart ‘o W’ R e fean e #, 7 8
V) T @ g (B) S F FEGT
#C) T e (D) SuEifiTar @1 fagr
ﬁl 07. The direction of trade winds in northern hcmisfnhcrc is
(A) North East to South West (B) South West to North East 3
(C) South East to North West (D) North West to South East 3y
SR e, o e & vae @t e e §
] I o ofe B) s ofvem & IO T w
(©) e 9 QI o (D) IR f¥em § 2 g
108. - The maximum distance between the sun and the earth is called
(A)  Perihelion (B) Perigee
(C) Aphclion (D) ~ Apogee ﬂ‘ B
T 0 gl & e s g e & @
(A)  SUER (B) 39
el TR D) T
109. In a food chain a ‘rat’ comes under the category of
(A) primary consumer , (B) secondary consumer
(C) tertiary consumer (D) producer
(A)  WuHE ITARAET - 1) TEdEs ST
(C) i ST (D) 3T

110. Which of the following statements is correct ?

(A) The direction of the wind in a cyclone in the northern hemisphere is
clockwise

(B) The direction of the wind in a cyclone in the southern hemisphere is
anticlockwise

-(C) The direction of winds in cyclones on the earth’s surface is both clockwise
and anticlockwise

(D) The dircction of winds in cyclones on the earth’'s surface is only
anticlockwise ’

sesvo BINNIN fo P10

Scanne d with CamScanner



T—

| : |
62 STL.,

=1 H @ - e w@ g 2

(A) SR e F e T qem e He H g3 s oy fegn H BT €

(B) ﬁwmﬁwﬁwﬁﬁmaﬁﬁlﬁﬁﬁmmmm*

el Wﬁmwwﬁﬁmaﬁ?ﬂa@ﬁﬁgmﬁ?ﬂﬂmmmh
feem % foadi, < @ feematt # g

D) e e A e ) e et o g A Pl

sT

11

B 8.
111. How many members are nominated by the Governor in the State Legislajy,,
- Council ? .
@ 1/3 ' ®) 1/12
(C) 1/9 (D) 1/6
‘ mﬁumw&a{ﬁmwm%aﬁmwnﬁwmm?{ ?
) 1/3 — (B) . 1/12
(C) 1/9 : (D) 1/6
~——112. The first Deputy Speaker of the first Lok Sabha in mdependent India, was
‘ (A)  Sardar Hukum Singh (B) S.V. Krishnamoorthy Rao
(C) Anant Shyanam Ayyangar (D) . G.G. Swell
AT R I TGl @i T A IqreAe &
(A)  ER gFH R A B T, . FmEd
(C) o YT AR i (D) ST S, @
113. Who is the in-charge of the ‘Voter Register’ at polhng station durmg polling i in
Indla ?
(A)  The first Polling Officer. (B) The second Polling Officer
(C)  The third Polling Officer (D) The Presiding Officer ‘
ARA H FAGH % SR HAGH 5 W HARTT IR’ 1 T9R S R £ 2
(A) T AR AUHRT - (B) T AoRE sty
(C) g HagH STyehR (D) - dBrH Afysrry
114. In which form of the Government the executive is responsible to the legislature ?
(A) Parliamentary Govcrnment (B) Presidcntial Government .
(C) Totalitarian Government (D) Military rule :
mwmﬁwﬁmﬁﬁuﬁwéSU%WﬁEﬁ% )
/( A)  EERE WEHR (B) 3T WHR
(C) TATYHRER] TIhK (D) A e
115. Which one of the following is an example of ‘knowledge objective’
(A) Explain (B) Construct
(C) Define - .. (D)  Analyse,

ess79 [N a
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(A) WP@TW

(B) T&H1 XA
(¢) Wﬁwﬁmm D) e

116. The ‘National Voter Day’ is celebrated in India on
(A) 25th January

(C)  25th September

(B) 25th March
(D) 25th November

IR 7 ‘UG e e o ST
(A) 25 S _B) 25U
(C) 25 =R (D) 25 7a=r
7. ‘Agrlculture and Irrigation’ are included in the list of the Constitution of Indla

which is _
(A)  the Union list (B) the State list
(C)  the Concurrent list (D) residual subjects
WWﬁWWﬁM'ﬁWWW% T
(&) W B A

el TEeEd gH D) 3rafre fawz

118. Under which Article of the Constitution of India, the Supremc Court has been
given place as the ‘Court of Records’ ?

(A) 129 (B) 130
(C) 137 (D) 143
W%-%ﬂ T & I Helled el <hl oI fed’ &1 B4 9d
™ e ?
—T1a) 129 , B) 130
(C) 137 ' (D) 143
119. Under which Article of the Constitution of Indla executive po“ er of the union is
vested in the President ?
(A) 53 (B) 54
(C) 55 (D) 56
waﬁ%ﬂa%ﬁaaﬁa%m@ﬁmwmwm
Bl 8 ? _
AT 53 (B) 54
(C) 55 - (D) 56
120. Chapter 2A of Rajasthan Panchayat Raj Act, 1994 provides the formation of
(A) Gram Panchayat (B) Panchayat Samiti
(C) Zila Parishad (D) Gram Sabha
Wmu'amam i, 1994 % A 2 F H % o 1 e &, g 3
(A) - - v(‘B/ Ygrad 9mia
() F&rﬁr qﬁq{ (D) THwW

ses7o |HINTMINY
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121.

122,

123.

64
sntre named in the Ny
What is the proposed National Assessment CC 1ong,

Education Policy, 2020 ?

(A) DIKSHA - (B) Nu:j\/;i

C) DISHA D) PA

(“émm% zozoﬁmﬁﬁmwaﬁ‘&'ﬁﬂﬂ fear 1 & 2
o [ T @ FEn

(© _fm . o) TE |
n wa ed in upper primary schoolg in

When was the ‘CALP’ programme initiat
'Rajasthan ?

(A) 2007-08 (B) 2010-11

(C) 2015-16 (D) 2004-05
Wﬁﬁmmﬁ@ (CALP)WETW@ ?
(A)  2007-08 : (B) 2010-11 ' ‘
_4&f  2015-16 - (D) 2004-05

When was the ‘obje'ctive resolution’ accepted by the Constitucnt Asscmbly aq

- presented by Pt. Jawaharlal Nehru ?

(A)  December 9, 1946 (B) December 13, 1946

(D) January 26, 1947

1

(C) January 22, 1947
. 'ﬁ.wﬁzﬁmmﬁa‘wﬁaﬁwwmmmm
Commy | |

) ofmmR, 1046 - B 13RI, 1946

“AC) 22 SFERI, 1947

' (D) 26 SFERI, 1947

124, The ‘Right to Education’ was made the part of which Fundamental nght by 86th

125.

Constitution Amendment Act ?

(A) RighttoF reedom
(C) Cultural and Educational Rights (D) Right against Exploitation

(B) R_ight to Equality

s 4 i e s g e & SR ) R e SR
TR ?
)

A T SER (B) WAl T IER
() ﬁmﬂ@wﬁwmﬂ (D) ST & favg AR

When was the ‘Protection of Children from Sexual Offences Act’ enacted in

-

India ?
(A) In2010 (B) In2012
(C) In2014 . | (D) In2016
R o Pﬂﬁ@ﬁﬁﬁmmmwaﬁlﬁm e AT AT 2
(A) 2010, B 2012
‘ (D) 2016

(C) 2014

ess7o (WM -
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| 126. In which state Durgadas Rathore’s Chhatri is situated ?
(A) Rajasthan : (B) Uttar Pradesh
(C)  Madhya Pradesh (D) Gujarat
g BT W o) fhg v d R ¥ 2
(A) ST | (B) I eIl
Ly HE WY (D) TR
127. In which arca did the Chawand painting style develop ?
(A)  Mewar (B) Haroti
(€)  Marwar (D) Shekhawati
areve Ferreett Sieft s forshr o 8+ gaT 2
R | (B) @R
(C) WRETS ’ - (D) EEEl
128. Smt. Kishori Devi was associated with which peasant movement ?
(A) Barar - ' (B) Sikar
(C) Bijolia (D) Bikaner
et fpeiY At frg frae e ¥ 9eiE W2,
a) WS ~"1B) W
) fesifear D) HEER
129. In which part of the body is the ornament ‘Bajatti’ worn ?
' 2. (A).. .Nose (B) - Teeth
(C) Ear " (D) Neck
i CAN WW%WWﬁWWW%7
(A) A (B) &
© A (D) T
130. Edward Thorndike ( 1898 ) is famous .for which principle in Educational
Psychology ? :
(A) Mcmory theory (B) Forgetting theory
(C) Learning theory (D) Adjusting theory |
weae eifiere (1898 ) 1 el TR H fergT=t o fTw ST e & 2
&) afa & e @) foregfa = feer
S g wfae (D) EHESH T fEgT
131. Which of the following decades registered negative population growth in India ?

ess79 ENIINNNL

(B) 1911-1921

(A) 1901 - 1911
(D) 1971 - 1981

(C) 1921 -1931

666 ‘ P10
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et o) @ fera quran 1 aqre T SR STRIEAT L_«_LUJLL ?
(A) 1901 - 1911 - (B) 1911 - 1921
(C) 1921 - 193] ) 1971 - 1981

132. Which of the following is the oldest iron and steel company in India ?
(A)  TISCO (B) 1SCO
(C) VISL (D) SAIL
R e L R S T e e GRS e R e | ol (1%,

v (A)  TISCO (B) 1ISCO

(C) viIsL (D)  SAIL

133.

The correct order of location of given physiographic featurcs from north y,
south is

(A)  Tarai — Bhabar — Khadar — Delta
(B) * Tarai — Bhabar — Delta — Khadar
(C)  Bhabar — Khadar — Delta — Tarai
(D) Bhabar — Tarai — Khadar — Delta
ﬁﬂ%ﬁa@m?ﬂwamwﬁwnmﬁuﬁwmm%
(A) FF(E e — @RT — el
(B) T — W — I — @R
(C) ¥R — @R — el — e

AO) TR — WE — @R — 62

134. Which state is thc largest produccr of Gypsum in India ?

(A) Rajasthan (B) Gujarat
(C) Jharkhand (D) Madhya Pradesh
TR H |y &7 gaiiu® IEE 99 HE-T1 8 2
A TS (B) TR
(C) #REUS (D) W W
135. Zanskar river is used for irrigation and power generation in which region ?
(A) Arunachal Pradesh (B)  Sikkim
(C) Ladakh ' (D) Garhwal-Kumaon
TRt T T 3T e v e I & R weer o e e o
(A)  3TEUTES W B) fafgwn
(©) *RE ‘ (D) TTEATA-FHIH
136. When did Chauri-Chaura incident take place ?
(A) January, 1922 (B) February, 1922
(C) November, 1922 e (D)  April, 1922

o579 | HIININNIN
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(A)  SHERI, 1922 ) wed, 1922
(C) HI=R, 1922 (D) 3T, 1922

137. Which ruler of Alwar appointed Pandit Harinarayan Sharma as his advisor ?
(A)  Udai Singh ' (B) Jai Singh
(C) Ram Singh (D) Man Singh

ﬁ%ﬁwmﬁﬁwéﬁmwﬁmwﬁ%m ?

M Trqﬁq? | (D) TR |
138. Who said that ‘religion is the development of the divinity which is inherent in :
human beings, religion is nc1ther in the books nor in religious principles’ ? :
(A) Rd_]d Rammohan Roy (B) Swami Dayanand Saraswati «
(C) Swami Vivekananda ‘ (D) Dadudayal “
aﬁmﬁmm%“uﬁw%aﬁmﬁﬁamwﬁm% unqargmaﬁﬁ‘s’ |
3R 7 uffres fagrat 7 2 :
() T TR T L B @ g |
€ @ fodems (D) wEEA
139. Who is called the first poet of the deprived class of India ? -
(A) Dadu (B) Jayanak
(C)  Ramdas (D) Chokhamela
.. A % dfed S 0 Ugel Hi W el S 2
A) <R (B EEw
©) T - (D) G,
140. Which ruler wrote a letter opposing Aurangzeb’s imposition of Jiziya tax ?
(A) Raj Singh | (B) Jaswant Singh
(C) Man Singh | (D) Durgadas Rathore -
aﬁvﬁagmaﬁmmwwﬁw%qwﬁw%{wﬁﬁum 2
A TeTEE ~ (B) e faw
() HHEe (D) TR EE
141. Which of the following musical instruments is like a flute ?
(A)  Alagoja (B) Bhapang
(C) Ravanhattha - (D) Tandoora
ﬁm%f@ﬁﬁﬁﬁﬂ-mammm@ﬁﬂﬁm% ?
(C) _ uTgedT - (D) dgU

sss7o  |NNNIINNAN | PTO,
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142. Which one of the following pairs 15 correctly matche

Mahajanapada Town
(A)  Gandhara Mathura
(3)  Anga Ujjain
(C)  Avant Sotthavati
Rajpur

(D) Kamboja

i 5 @ -1 0 T T8 oo € 7

HeTo[ e TR
(A)  TIER Rl
(B) T I
© e e
143. The Bh.andadcvara Temple is located in which district ?
(A) Bundi (B) Kota
(C) Baran (D) Jhalawar
yyegeRy AT fo o o Raa & 2.
@) o (B) R
(C) dRI (D) SAATETS

144. Consider the following statements about Chandragupta Maurya :

1. He married the daughter of Seleucus

2. He accepted Buddhism in the last period of his life
3 He made Ashoka his successor '
Which of the statements given above is / are true ?
(A) Only 1 (B) Only 2
© 1,2 D) 1,23
g A % G H frefefed YAl W faEr Hig
. 3 Sogsd &I O % A faee fohar
5. I e Sa & sifan § gt SR m
3. IO IV HI AT ITRIMGHR] I
mmwﬁnmm/ﬁaﬁmvﬁ%ﬁ ?
W A 1 (B) hdd 2

C 1,2 D)2, 3

68579 [N
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45. Consider the following statements about Ashoka’s inscriptions
1.

=

Most of the inscriptions arc in Prakrit language
Most of the inscriptions arc in the Brahmi script
Which of the statements given above is / are truc ?

(&)} BothlandZ' (D) Nonec of these
3R o srferEl & o A Frefefan e o fEER i
1. Flushie stfveng wigd e H @
2. 3y Atfver sl fefu 7 §
IUAE FUAT H W HEA-W/H ho G /2

(A) e 1 ' BT Hae 2
(©) 1R 23A D) T A HE A
146. Which of the following Indus-Saraswati civilization sites arc located 1n Pakistan ?
1. Mohenjodaro 2 Harappa
2 Prabhas Patan | 4,  Alamgirpur
: 5.  Chanhudaro 6. Kotdiji
A) 1,3,5,6 . B) 1,2,4,5
C 1,2,56 Do) 1,2,3,4
ﬁmfaﬁaa?agwﬁmwﬁnuﬁq@uﬁmﬂﬁ@ﬁz ?
A=l 2. weW
Y9 9 4. IR
R 6. wedeh
(A) ‘1,_3,5,6 A 1,2,4,5.
(¢ 1,2,5,6 (D) 1,2,3,4
147. The grcat mathcmatxman Brahmagupta was born in which district of Rajasthan 2
(A) Jalore (B) Churu
(C) Sikar (D) Bikaner
mewwmmmﬁaﬁng : \
“) B T
FE zﬂw - ¥ (D) ST

148. Consider the following statements about the Vedic period :
1. Grihastha Ashram was the feeder of all other Ashrams

2. The village officer was called ‘Gramani’

o The merchant class was called Vish’
Which of the statements given above is / are true ? \
(A) Only1 : By 1,2
Cy 1.3 , D) 1,2,3

s (NN (eS8 i | PO
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ﬁﬁmaﬁaﬁm“faar{ﬁﬁﬂq

N Wawqmmﬂamm‘quﬁwm
5. 3 afuerY 1 TTHON el ST 9
3. ammﬁanwﬁmemt—mw

6

(A) a1 1,2
c 1,3 D 1,23 .
149. Where was the branch of Ramsnchi sect established by Sant Dariyavji ?
(A) Shahpura (B) Sinhthal
(C) Rain (D) Khedapa
vaaﬁmavﬁmmﬁﬁwmﬁwmwﬁﬁaﬁﬁ ?
() R () faede
e (D) T
150. Consider the following statements about Mahaveer Swaxm
i He was born in Lumbini
2, His childhood name was Vardhamana
k- N His mother’s name was Mahamaya
9. He was the first Teerthankara of Jainism

Which of the statements given above is / are true ?

(A)
(€

~TA)

(C)

68579

Only 2 (B) 2,3
1,2 (D) 1,4
wmﬁaﬁﬁﬁmﬁ@amﬂ‘rwﬁwaﬂﬁq
1. IR S e | gal
2. T 99U T A GEHE o
3. ITh! WAl 1 H HETHET A1
4. oS 9 % TUH e o
394 HUEl A | HE-T/D T R/E 2
Fael 2 B) 2,3
1,2 D) 1,4
| RN 666
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SECTION -~ 1
quiy 1

CHILD DEVELOPMENT AND PEDAGOGY
reT-faermr uer fyvaror faferai

(here are 30 quesitions in all in this section,
All questions are compulsory.,
U U el 30 ULl

Wit wge sl

1. What is the minimum number of hours of work per week for teachers in the
Right to Education Act, 2009 »
" (A) 30 (13) 50
(C) 45 (D) 70
feregr b stiuebte s, 000 1 fomer % feo ufi PRI il el b el
EDIN ) - |
(A) 30 (13) 50
AC) 45 d) 70
2, Which kind of rescarch is done by the principal of school to identily and remove

the causes ol various emotional problems of the students ?

(A)  Action Rescarch (3) Qu:n[il’utivc: Rescearch

(C)  Historical Research (D) Descriptive Rescarch

v ferererd o sarraE gr Sl @) i dduenes arensl & wroi @
G 37 g S R hT-A1 SERIUE e Sty 2

5 feharcrten :117114-:4[:[ W) T, ST
(©  vfdwifyes srpRiur (D) AV SR

3. Which of the following theories is related to learning by conscequences ?
(A)  Operant conditioning (B)  Insight lcarning
(C)  Classical (:()ncliliohing (D) Cognitive learning \
Frsiferfiae 1F 9 aler-ar fawr afors g de @ gafaa g o
p g S B siddfz wfam
() ReAl ST (D) IR diEe

9. When we use our current 'schema' to interpret the external world, it is called
(A)  Assimilation (B)  Association
(C)  Adaptation (D) Equilibrium

8579 [N -4 "1
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4 3 31 el Al 2
ey e 8, a9 39 PE TR
Yﬁ.?ﬂ e et e et s A ST et & HLd €
(A) 37@1?7@75}7{"” (B) q’{?ﬂ.,q
Jo) FFET o) e
| isti ective test ?
o Which of the following is not 2 characteristic of pl.‘(‘)_-]‘(,'(jll‘\(, c
| cspond
(A) Ambiguous stimulus (B)  Frcedom {0 respo
(D)  Objective interpretation

(C)  Subjective perception’ :
- maumﬁwﬁma@% g

T ki A @ o @ A
| () AT FeARTol (D) . AEAS AT

Which of the following is a characteristic of a gifted learncr ?
activities arc not

6.
(A) He caﬁ feel understimulated and bored if the class
challenging enough
(B) Hec gets aggressive and frustrated
(C) He cngages in ritualistic behaviour like hand flapping and rocking ctc.
" (D) He is highly temperamental
Crfetaa & @ w-at fasar s e @l @ 2
—1A) aﬁawﬁ_ﬁ%ﬁﬁmﬁﬁqﬁﬁﬁﬁ%aﬁa?wﬁﬁamm
@ T S SR i @ S E
(C) %mwmgaﬁmmmaﬁ
(D) T g &1 e e B € |
7 Inclusion of children with special necds
(A) is an unrcalistic goal '
(B) will increase the burden on the schools
(C) requires a change in attitude, content and approaéh to learning
(D) is‘dctrifncnlal to children without disabilitics
ooy srerzareRe o1l =l bl Y ST
() T FERE A §
(B) fermerdl 9X | <fel &
©r ﬁTW%W%EﬂW ferw-eree] 11T oM GRER i STIET TE &
) ot e = 1, 37 el % ferd wh & ‘
68579 | [T 666
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g Problem solving is not
(A) goal directed
(B)  askill that can be learneq and practised

. ba
(C) based on the understanding and use of sequential steps

(D)  about musical ability

(A) Ff&aﬁ:ﬂ'@'\l

(B) WW%?&%WW%WW%@HWWW’
©) WWWW%WWWE{

p) @il e s 3 oy

9. Thematxc Apperception Test (TAT) of measuring personality is a-

(A) | subjective {echn'ique (B)  objective technique
(C)  projective technique (D)  experimental technique
ISR F=felle RIeToT sfme bt Hro Y
(A) NS fafg g B) RS fafy g
4€)  wEdr fofy & (D) WA Tty
. 10. Which of the following leads to creativity ?
| (A) Emotional thinking . , (é) ~ Convergent thinking
\ (C)  Divergent thinking (p) Egoistic thinking
ettt 3 & -1 G SR A g 2
(A) 9T feeE (B) APRR fam
(€)Y T (D) T fae

11. If the actual age of the child is 13 years and mental age is 14 yéars, then what

will be the Intelligence Quotient ?

(A) 11250 ~ (B 107:69
(©) 11025 (D) 10050

o a3 13mﬁmnmfwm 14 7 & A g w=

A |

(A) 11250 —+B)  107:69

(C) 11025 (D)  100:50

%8579 [N e P.T.0.

Scanne d with CamScanner



ILJ - A 6 STL-2
12.  The 'Classical conditioning theory of learning was propoundcd by

(A) Skinner (B) Pavlov

(C)  Thorndike (D) Kohlberg

dl) il a?-mvm =T Frgra’ wiaated AT 41

(n) s ) TEEE El

(C) o SIgE A (D) FEADT A

13.  Causc of juvenile delinquency is
(A)  parental conflict
(3)  sympathetic behaviour of family members
(C)  working.in family with mutual consent
(D) wealthy family
ALE- 3R T HROT ¥
—A)  HArr-fadr 7 et e
3) uRER % Tl w1 Ferfager SR
() uitar # seg @ genfa § wE e
(D)  H9F URar
14. Which of the following has been ignored in children's Frce and Compulsory
Education Rights Act, 2009 ?
(A) Facilitate training of tcachers
(B) Ensuring entry of rozu'ningboys
(C) Declining Acadcmic calender
(D) Armng.mcnl of education after 14 ycars
TRl & I 0 mﬁwwm oog\ﬁﬁﬁmﬂr—?v___'ﬂ.
fegrmar & 2
(A) eI ﬂﬁ’l&TUT greren 9 ShTAT
(@) T A & e @ g S
(©) e sere 1 PR
P 14 99 & SRE foren =reren
15.  Which of the following steps makes research, action rescarch ?
(A) " Construction of sub-concepts
(B) Programmec implementation and cvaluation
(C) Generalization

(D)  Review of Litcrature

ess7o  [MITMINLID v-4 )

BN ——
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@E ﬁﬁfﬁuammml‘ﬂm mwa‘mn- ?
(A) IURCATT %{I}P{I B3 T kil h;qrj'q:{ ud Ii(?«qi? T

() TR D) maﬂrﬁﬁm

16. According to Albcrt Bandura, four conditions arc necessary in obscrvational
learning. The right sequence of these conditions is

(A) Motivation — Attention — Retention — Reproduction
(B) Attention — Motivation — Retention — Reproduction
(C)  Attention — Retention — Reproduction — Motivation

(D) Attention — Retention — Motivation — Reproductiéon

%Wﬁﬁwaﬁnm TR uRkfafaar seEvas &1
q&f@ﬁa‘rwuﬁma "

(A) PR — SEF — RO _ G
+(B) ST — STTRON — YR — G
Q) I — ¥R — AR — 3TRom
(D). SFETT — HROM — STPROT — TR

@. According to Sigmund Freud, which method is most appropriate for identifying
the characteristics of unconscious mind. ?

(A) Casc study : , "(B)  Dream analysis
(C) Socmmetry techmquc : (D) Interview
W@m%aﬂw Wmﬁﬁmmaﬁwﬁzﬁmm
®-AE ? o
(A) azrﬁwaiwm : (B) @ faversor
(C) GHEIHLT deoheilh up) RN

18 A.D.H.D. mecans : ‘ - . ; “ : |
(A)  children with spéal_dng difficulty '
—B) childrcn with hcaring dcﬁcicncy
(C) chlldrcn with dlsordcr of atlentlon
l (D) - thldrcn with visual impairment -
TEl Qﬂ & @ e ¥
(A)  #ifeh HiaTs el e (B)  HeT ga ATl "t
(C) &I fgeR ame et D)  gfeEar =t awrs

- 68579 [l n-a  PTO.
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22,

J2)

(C) 89th Amecndment

1 86 1 T ‘ (B)

P

(=4 ) PR

8
) : Cpreit
" A ncss one or mott

A test designed to reveal a person’s strength or W akness

called
(A) Remedial test (B) l)iu;umsli(: test
(C)  Achicvement test (D) Formative test

N 8 ety a1 el @l
5 a1 A @l e o () s fayudid] i Il l
"—_— : —
F7- = ol dArEl TFIT &, cheairdl 4

——

@) SRR qd1edul

(A)  STENICHS ratE |
Jpf T 1T

~ n
7T TRIETL

L(lucatl()n Wi

By which constitutional amendment the 'Right to I

Constitution of India ?

(A) 86th Amendment (B) 74th Amendment

(D) 91st Amendment
s e g e g T e’ aferfor fEAn AL 2
74 @1 GEEA

() 89 HamH () 91 d I

Child ccm'rcd pcdagogy means
(A) asking thc, children to follow and imitate the tcacher

(B) letting the children be totally frec -
ducation to the children

(C) giving moral ¢
s voices and their active paruupalmn

(D) giving importancc 10 children's

e iz (s 1 8 €

©) et a1 e e ST '
T?ﬂ‘éméﬂ'q?«'ﬂ?ﬁ maqaﬂmumﬁmmm

Raven Progrcsswc Matrices arc uscd to mcasure R Io) m

(B) Learning

(A) Personality

(C) Intclligence (D) Creativity

oas7o | [ITINNLIN |
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24.

26.

% T % fed e 3 m 2

fm vrtaE wizars w5 uam

S =l B) AT
(C) dla (D) GEHARHEA

According to Vygotsky, children learn

(A) by imitation

(B) by interacting with adults and peers

(C)  when reinforcement is offered

(D) by maturation

(A) T
JBf TR SN TR F 9 WER g

(C) 1 e WeH T < 3
(D) URTTH B §

Which psychologist first created the intelligence test ?

(A)  Wechsler (B)  Binet

(C) Spearman (D) Cattell

[ d IS % §RT 9994 9iE T S e e a2

(A) TFER | AB) T

(C) i D) e

What cffort should a teacher make for the upliftment of Gifted children ?
(A) Slow to teaéh (B) Special classes and motivation
(C)  Punishing them (D)  Ignoring them

U e N Mo el S S 36 & S-S T e w0
(A) UM @I 4 ~1B) & wamt 7 vemm

(C) I=EIvg T (D) 3 W FH 94 3=

The aim of adding Art Education in N.C.F.-2005 is
(A)  to improve logical reasoning

(B)  to develop scientific outlook

(C)  to appreciate cultural heritage

(D) to visit historical sights

8570 | LRI —_—
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T 0%, -2005 & wHen e w1 Se o 353 €
() T fae  sfagie (B SR gRzEm R EER
o) et R W T () e SR e

27. Dcvclopm;nt is never cndiﬁg process, this idea is associated with
(A)  Principle of continuity (B)  Principle of interrclation
(C) Principle of intcraction (D)  Principle of intcgration
) e % e | (B) m:mm%ﬁmﬂr‘di?
© g fEm e faga Y (D) TR S faar §
28. Which of the following is not a component of intelligence ?
(A) Logical thinking o (B) Vocational choices
(C) Mcm(_)ry (D) Learning {from »cxpericnces
Prtferia 3 & S 2R = weHEE Y 2
(A) s o= S AEEs SrEl
&) w (D) TR & S
29. Which of the following is not a ﬂgho-mot:oL activity of a child ?
(A) Thinking (B) Writing
(C) Throwing a ball : (D) Playing .
SrfeEd § | G H FH-E R FATTEe 8§ 2
(a) WA B) e
gy T S D) @E
30. Who gave 16 P.F. questionnaire to assess personality ?
(A) Gordon Allport (B) Sheldon
(C) R.B.Cattell (D) Sprenger
e F T & ol diete OO, YeEe [hed & 2
(A) TEA HATAUE ' (B) JTeeH
o AR AN, HeA D) BI=K
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